Exercise 1 For a portfolio of insurance policies the annual claim amount X of
a policy has the following pdf

2z
977
The prior distribution of © has the following pdf

fx(z]0) = O<z<¥6

fo(0) = 46°, 0<h<1

A randomly selected policy has claim amount 0.1 inYear 1. Determine the
Biihlmann credibility estimate of the expected claim amount of the selected policy
in Year 2.

Exercise 2 You are given the following information about workers compensa-
tion coverage:

(i) The number of claims for an employee during the year follows a Poisson
distribution with mean (100 — p)/100; where p is the salary (in thousands) for
the employee.

it) The distribution of p is uniform on the interval (0;100]. An employee is
selected at random. During the last 4 years, the employee has had a total of 5
claims.

Determine the Buhlmann credibility estimate for the expected number of claims
the employee will have next year.
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